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1 “SA-fEuT T T TR A B

(A) ®)
(©) swfe (D) T
(C) AR 5
) TAfafad § & frad @ ats w=i e
(A) T (B) W
(C) xR (D) W=
(E) i ot
3 o SR R fora & forae wew A B
(A) =T (B) =
©) w| (D) HB
(F) ormia g
4 It ‘MEDICAL” is written as ‘DEMILAC” in a certain code language, then how is ‘COMPILE’ written in that
code?
Ifd *“MEDICAL’ %l Tsh I8 YT ¥ *DEMILAC’ o1 ST &, a1 *COMPILE’ ki 39 =hi$ d ohi forar SIram?
(A) MOCPELO (B) MOCQELI
(C) OMCPILE (D) MOCPELI
(E)  Question not altempled ¢ ailflﬁﬁ_d RE]
5 If the serics S—1+ LN + ! + e , then sum of its infinite terms is:

112 11215 123 4
e s=1+ 44 VL T At & A Y&l &7 AT 2

1-2 14243 1+2+3+4 '

A 3 ®) |
© 3 (D) 2
(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]
6 Some girls are standing in a queue, Tf Kavita who is 11t from the left end and Babita who is 90 from the right

end interchange their positions, Kavila becomes 15% from the lefi end. How many girls are there in the

queuc?
7 ST U Ufh H wet 2| ot al IR 119 T w2 SRl a1fed SR 9o T w81 A 3 e
T T G T ST AT STt T B 159 TAH W AT A &, A1 iR 7 FeT forat argtenat 87

(A) 21 (B) 23
)y 25 {Dy 27
(E)  Question not attempted / 31?@'?&[ EE]
7 Some students are standing in a row facing in same direction. Tf the position of Johin from left is 32 and from

right is 15, then how many students arc there in the row?
e Feramef wer wifeh o weh = foen 4 ot @i 81 i< ST o1 T St S 3241 2 o Al o T 1591 E
tifeh 7 feranfei= <t g ot 27
(A) 45 (B) 47
(C) 46 {Dy 48
(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g
S17] fgm_;“j 2 [ P.T.O.
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11

12

Vikram Sarabhai Space Centre is located at-

(A)  Bengaluru (B) Thiruvananthapuram
(C)  Sribarikota (DY llyderabad

(E)  Question nol allempled

Tersh FRTTS W38 HeX (3faiie ohg) foum 2-

(A) e ®)  foearags

(C) siefeier (D} TEEE

(E) gt o

A coil of wire has an area of 600 sq cm and has 500 turns, Tf it carries 1.5 A current, its magnetic dipole
moment is -

(A) 10 Am? (B) 15 Am’

(C) 30 Anv’ (D) 45 Am?

(E)  Question not attempted

Ta 500 I 31 R Sl oSt st ahe 600 a1 Bt 2| A el 7 1.5 WFem 32 o 1 YaTe g 8, q Fust

=l Frrehi fgya smani 2 -

(A) 10 TR Hier (B) 15 Ut Hiew?

() 30 UfrreR Hew (DY 45 U e

(E) gt o

When the cornea is not spherical in shape, the defect of vision in this eye is called -
(A)  Myopia (3) llypermetropia

(C) Asltigmalism (D} Calaract

(E)  Question not attempted

T AT (C=SHEE) TR T 2idT &, A7 59 Y1 o 977 § 33 T 219 2har 2-

(A mEeET (e (B)  ETSHCHEITAT (5351%)
(C) uftenifesy (arfsigar) (Dy i (difqaisg)
(F) 3T T

Frfafiaa # s qevaras Tem 2-

(A) & (B) #

(€ = (D) =

(E) HTana s

frrefetfias & strfoerrer w3 @ 2-

(A) ot (B) fagm

(C) e (D) =t

(E) #Tana s
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13

14

16

17

el &l gell-1T 4 ghtferd shifse :

HE-T H=i-11
(aT) (fermm)
2,  THIATETR L. 'G'i'm"%ﬁm
b.  JadTEaT 1. Sondes
c. Torerer foremeft o forame weamaT 1 0l 3TeEek foram
d. % A I T IV,  weRie foram
= faw e foeredt H @ waifue 3w o If
(A) a-TLb-Lc-TMLd-TV (B) a-TV.b-T,c-T.d-TI
(C) a-TV,b-Tc-T,d-T (D) a-TMLb-TV.c-1,d-TI
(F) 3T T
-1 = g=ft-T & gafera Fifs
-1 -1
(¥153) (Froraedes yrem)
a3 L A
b. HIG 1. Y
c. fom M. ARy
d. el Iv. el
e fa e feeredt 5 & waiferR SRR 3K 4T ;
(A) a-TV,b-T,c-T,d-TI (B) a-Lb-TLc-T,d-TV
(C©) a-1Lb-ULc-1d-1V (DY a-ULb-1V,c-1,d-1l
(E) #Tana s
“eff{ - off T - e 2
(A)  #H=EE (B) AT
(©) %3 (D) fa7
(E) i ot
FEthanoic acid reacts with carbonates to form -
(A)  Salt, nitrogen dioxide and water only (B)  Salt, carbon dioxide and water only
(C)  Salt, cthane and water only (DY saltand water only

(E)  Question not attempted

USITgeR STFeT shla-2] o €T HATISHIT ohleh &TaT & -

(A)  hdel A9, TSN SEATEAES SR Iel (B)  hacl AT, TSI SEHATHATES HAN el
(C)  <hde e, U 3 STl (D)  <hddl TaV A

(E) i ot

The property of carbon which is responsible for the formation of long chains is called:

(A) Catenaticn (B) Sublimation

(C) Carbonation (DY llydrogenation

(E)  Question not attempted
SHTE T T8 07 I ARl ST S o oty STt €, shEerar 2

(A) SN (siEa) (B) AU (FscliHE)
(C)  IEHIE (D) eSS
(E) i ot

[ P.T.O.



18

19

20

21

22

23

The numbers 24, 34, 46, 48, 2x + 1, 4x + 3, 105, 110, 114, 123 are written in ascending order and the median
is 77. The valuc of x is:

i G@AT 24, 34, 46, 48, 2x + 1, 4x + 3, 105, 110, 114, 123 1 9gd 569 (NI s59) H foram S & 377 St
HIfR=RT 77 %, AT T AM &

(A) 20 (B) 22

(Cy 25 Dy 30

(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

There is 50% increase in an amount of meney in 5 years, at simple interest, What will be the compound

interest on ¥ 15,000 aller 3 years al the same rate?

ToRelT TT3T =T <77 WTTROT =TSl 9 TRIT 11T &, 47 363 5 9t 7 50% 7 ghs sl 21 6 W T 15,000 F1 1 aut

o 18 TSFTS, ST T BT
(A) T 4.960 (B) T 4,800
(©) T 4,900 (D) T 4965

(E)  Question not attempted / Bilfljﬂfﬁ RE]

Two numbcrs arc in ratio of 21:26. [ 8 1s added to cach number, then new numbers are in ratio of 3:6. Find
the ratio of numbers, 1[ 2 18 subtracted [rom each number.

3T 21:26 3 T 4 8 AT TAF H & ST S, Y T8 AT T ST 5:6 B ST 81 7S e S o
2 BT S G HATHA T ST A0

(A) 23 (B) 14

(Cy 43 (Dy 1%:25

(E)  Question not attempted / 31?@'\’&[‘5[‘3

The angles of clevation of the top of a tower from two points A and I3 at distance p and q respectively, from

the base of tower and in the same straight line with it are complimentary. The height of the tower is:

T Wi 26 SATCH a7 fargedl A 311 B, ST FeT: AT o SR & Uk @t @ | p a q 300 e, & WA e v
o I 0 [ B AR SR 2

@A) P4 (B Jrg
]
©  (pgy3 ®)  pg

(E)  Question not attempted / fﬂ?la?lfﬁ RE]

Which of the following is the transistor’s capacity of the first microprocessor produced by lntel Corporation?
Frefafiga o & dt seet i g Fifda g argshiiemT it Ziferet eudr 82

(A) 1700 (B) 1800

(C) 2300 (Dy 2700

(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g

Which ol the lollowing command of excel will 1ake you 1o the next workbook window?
TRHE T T H 8 19§ FHTE S9! STTelt Fehalep Tl wt ot smem?

(A) F6/Shili+F6 {B) Cul+ Page Up

(Cy  Ctrl +Shift + Fo/ Tab (Dy Cul+F6/Tab

(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

SI7] 5 [ P.T.O.



24 Which is the dialect of Kota, Bundi and Thalawar region of Rajasthan?
(Choose the most appropriate option from below:)
(A) Wagadi (3) Malvi
(C) Hadou {D} Bhili
(E)  Question not attempted
TSTEIT % ieT, SET 3 AeAarg & i St i | 2

(7 o ¥ e SR T )

(A)  FFIET (B) WAl
(C) wrem! (D) e
(F) 3T T
25  In Rajasthan Bichchiyo, Lalar, Nolhila and Shikhar arc:-
{A) Folk Dramas {B) Folk Songs
(C) TFolk Dances (D) Playing Instruments
(EY  Question not attempted
forfeeett, arer, ArfiaeT 37 fiver oo & 2l
(A) @ TES (B) ai&d
(C) @RI (Dy aTEEd
(F) 3T T
26 Who is worshipped as a warrior with spear in hand, or as a snake demigod in Rajasthan?
{A) Ramdewji {B) Gogaji
(Cy TPabuji (D) Devnarayan ji

(EY  Question not attempted
TISTEIT H i 8T § IS ol U A1E] o §0 H 97 |17 39dT1 3 &9 5 I6f S0 82

(A)  THeT T (B) TSIt
(C) usSi (D)  <ERET S
(F) 3T T

27 ST A 0 TR 2, T 39 ferre o forq ey 2 -
(A o (B)  fgef
(C) 3d (D) W
(F) 3T T

28 ‘37T IR A AR AR r anef B
(A) g™ (B) TGN T &HT
(C)  HietaeEdt ¥ Sfia femn (D) ET-<E! Ui STHT
(F) 3T T

29 FHETEE! T 7 ARG § T T ATl Y68 o
(A) ®arH (B) Wad
(C) mm (Dy =
(F) 3T T

30 A shopkeeper bought 6 articles for ¥ 5 and sold them at 4 articles for ¥ 6. Then what is his gain percent ?
fertlT GEFMRTL T 6 AU 5 1 WHIE 9L 36 X 6 3 4 ARSAT o Tl § sI (o1 37 Sai1gu, SWehT T WicieTel T @r
(A 29% (B) 65%
) 2% Dy 80%
(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g

S17] fgm_;“j 6 [ P.T.O.




31  Outof 2000 employees in an office, 52% are graduates. 60% of the emiployees are male and 30% of the male
emplovees are graduates. Then how many lemale employees are graduates?
2000 FHART AT FETT H 52% HRF 81 60% FHAR! T 2 3 50% T9 HH=E Fia 2| ot afean
ELERIRSIGERS,
(A) 410 (B) 430
(C) 440 (D) 460
(E)  Question not attempted / 31?@'\’&[‘5[‘3
32 The value of logy27 + logs29 is:
logg27 + logs79 T HIA &
(A) 56 (B) 13/6
©) 12 (D} 95
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g
33 Choosc the mest appropriate option to fill in the blanks:

Do you know in London? Yes, my friend Arun lives near London. But in case he is
out of town, T will have to go.

(A)  someone, x, somewhere (B) anyone, nowhere, nothing

(C)  anybody, somewhere, nowhere (D) nobody, anywhere, something

(E)  Question nol allempled
34  Choose the most appropriate opiion 10 complele the sentence.

In an official letter the “subjcet’ is

(A) aslong as possible (3) stretched and relevant
(C)  brief, clear and relevant (D) vague and precise
(EY  Question not attempted

35  Choose the most appropriate word to complete the given sentence:

T was advised not to loiter the streets after sunset.
{A) aboul {B) [lor
(C)  with (D} 1o

(E)  Question not attempted

36 T vee sqa W Eferiaa § © ws aref T R

(A) welt B) ¥
(C) =& (Dy BT
(E) i ot

37  ToraT o oid O oTH ATl T shadrd 2-
(A)  dlgd (B)
© sl (D) ¥
(E) #Tana s

38 oA w78 # fifed o B
(A) = (B) @y
@ 7 Dy 3
(E) i ot

SI7] 7 [ P.T.O.
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39  ‘Pangong Tso’ lake is situated in which of the following sub divisions of the Himalayas? (Choose the most
appropriale oplion from below:)
{A) Himachal and Uuarakhand Himalayas {B) Darjiling and Sikkim Himalayas
(C)  Arunachal Himalayas (D) Kashmir / Ladakh or Northwestern Himalayas
(E)  Question not attempted

Frif i giter feTer & Fafafad & fre swere 3 978 et & (Frer & 9 e s feed 9)

(A) Teurae 3t s ferrem (B)  afsifenT it fafrery feamemr
(C) I fenmer (D)  FTHR / TERT AT I qreHT FEmmer
(F) ormia g

40  Which is not a function of the State Human Rights Commission? {Choose the most appropriate option from
below:)
(A)  To undertake and promote research in the field of Human Rights.
(B) To discourage the efforts of Non-Governmental Organizations working in the field of Human Rights.
(C) To visit jails and study the living condilion ol inmates.
(DY To spread human righis literacy among the people.
(E)  Question nol allempled
TS AR AT 1 -1 1 Te) w7 (Hefeliad § 8 qed 3 fohed ;)
(A) ISR o & H STAE T S Sera o)
(B) OIFSATERRR 3 & § h1Etd T-aRehi Ta-T o TITET 1 gaTea e sl
(C)  SIET =T SRT HTAT ST higdT 2T Sfa TR ol STeea el
(D) SIS AT STERAT ST THR T

(F) 3T T

41 By which Indian Constitutional Amendment the *Gram Sabha’ has been given a Constitutional Status?
(A) 72 (B) 739
(C) 74 (D) 75"

(E)  Question nol allempled

fore WoreTieR ST GRT I SR ST @ 1 foar T 87

(A) 72at (B) 73af
(C) 744t (DY 759t
(E) #Tana s
42 Who can remove the Governor of a State? (Choose the most appropriate option from below:)
(A)  Chief Justice of Tndia (B)  Chief Minister
(C)  TPresident (D)  Prime Minister

(EY  Question not attempted
TS oh TSI sl i 8 qohdl 22 (FHfeiad o & w3 ferened =-:)

(A) ART o 9 =AETdia (B) TeAwAl
(C) Tl (D) aMEA
(C) AR 5

SI7] 8 [ P.T.O.
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43

44

SI7]

Choose the box that is similar to the box formed from the given sheet of paper.

KIS sl & i1 3fte (Ush) B S ST sl =9 shifst)

)

H#
D

Choose the appropriaie oplion given below:

=t faw amg 3w foered 1 =
5 V‘E'
w | o# [ (B) //
7 & A
© D) | u

(EY  Question not attempted / 31?@'\’&[‘5[‘3
Take the given statements to be true, even if they seem to be at variance from commonly known facts. Then
decide which of the given conclusion logically follows from the given statements:
Statements: No magazine is newspaper,
Some newspapers are books,
All books are spoons,
Conclusions:
I. Some magazines are books,
TT. Some newspapers are spoons,
(A)  Only conclusion T follows, {(B) Only conclusion T follows,
(C) Both conclusions Tand 1T follows. {Dy Neither conclusion T nor conclusion TT follows,
(EY  Question not attempted
fow T et 1 Ted W T S A G qeAl 8 TR Ts ST 8, 9o e 9T T A ¥ TE aeaqu
et =t frofr =

<helH;
12 +ft afrer TR T 7
FS TR JEd 8
wft o e )
forsent:
T. %5 TR e
1, %3 THTETL - 9 977 2
(A) et FeRe T STeoT T 2| (B) eIt foreah 11 T80T Ll 2
(C) BT sk [ 11 3o et 2 (D) T4t e 13707 & freed 11 srgwor S @)
(F) ormia g

9 [ P.T.O.
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45

46

47

48

49

3 | e

MfAfiad W & “Siere-STeis” 2762 T =l G 314 8-

(A) ET- TR (B) U - TR

(C) TEe - FASA (D) &z - Bt

(C) AR 5

The Prcamble of the Indian Constitution starts with the phrasc:

(A)  “We the people of Tndia”..... (B)  With the name of God.....

(C) India a Sovereign, socialist..... (D} To secure all cilizen of India.....

(EY  Question not attempted
TR W oY SeTaT fob aTerTiaT & 316 et 29

(A) “EYANAE AT..... (B) TFTHEF ...
(C) R U3 T, FATSEAL. ... (D) 9T & |t AATIGRT 6T HEA.....
(C) AR 5

In 1983, which of the following Commission/Committec was appointed by the Central Government to
examine and review the Centre-State relations in all spheres and recommend appropriate changes?

{A) Hanumanthaiya Commission {B) Sarkaria Commission

(C) Rajamannar Committee (D)  Ashok Mehta Commission

(E)  Question not attempted

1983 &, el &1 & SFix-To7 Tl 1 S ST Tt F 3 staa ufeer i a0 o e e
g i & o st 1 Frafee 41 oty

(A) BT SRR (B)  GISHIRAT AT

Q) ST GihfT (D) 31Tk Hedl ST

(E) i ot

Chairman ol Rajasthan Public Service Commission is appoinled by which one of the following?
(A)  Chief Minister (B) Governor

(C)  Chief Justice of High Court (D)  Chairman UPSC

(E)  Question not attempted

TSTET TR TaT 3130 3 27e7e &t s fefafaa § & e F g et 22

(A) e (B) T=AUTA

(©) == T ¥ W vt (DY FEgThTEH
(E) i ot

Shri Lal Joshi, Phad artist, belongs lo which place in Rajasthan?

(A) Bhilwara (B) Jaipur

(C)  Sikar (D) Churu

(E)  Question not attempted

% FATRR 2t ST STreft UsTeaTT % Tore v & w82

(A)  sfiearsT (B) A
(©) " Oy TE
(E) i ot

SI7] 10 [ P.T.O.



50

Select the incorrect statement in context of Bhils of Rajasthan and Govind Guru.

(A)  For social and moral uplifiment of the Bhils of Rajasthan, Govind Guru established the Samp Sabha.

(B) To keep them in Hinduism he started the Bhagat Movement,

(C) The Britishers felt that the objective of this social reform movement run by Govind Guru was the
formation of a BBhil State.

(D) 1le organised monthly mectings of Samp Sabha on the Managarh 11ills.

(E)  Question nol allempled

TSTET o Wit i TMifefg 76 o savl o e e &1 == &)

(A)  TITeiE T < USTEA o |l o WTHTISTeh 31 Afoe 3o o [T, W« ol SToaT |

(B) 3 T ad H =10 T o fofe, rar aAieier 3 ferenl

(C) SIS &l T h MeIE % BT TG 7T, 36 THTN R TR T 362 WieT Tsd &7 (107 81

(D) I T T I ARG S3F HITE URIEH 9T ST

(E) HTana s

The ancient name of Jaisalmer was .

{A)  Vagad {B) Mand

(C) Hadou {D} Shekhawati
(E)  Question not attempted

SIECTET 3T ST T3 -

(A) TS (B) T

(C) TSRt (D) TEERET
(E) HTana s

Select the incorrect statcment about subtropical mountain forests. (Choosc the most appropriate option from
below:)

{A) These [orests are found only in Rajasthan and Ultlar Pradesh.

(B)  Subtropical Mountain forests are found only in Mount Abu region in Rajasthan.
(C)  In these forests, greenery is available permanently.

(D) These forests can be found in Sirehi which is situated in Rajasthan

(EY  Question not attempted

JUOTER{ e e Ta T oh ST H STHe a1 <18 ol (T ¥ | T SUeh foehed 91:)
(A) T T el TeTegT q97 3% Y491 | 4T ST &

(B)  IIIIERTEH o1 Taclier i ohaleT TISTeAT o HISE SHTE] &1 W WIT STl &

(C) 3 a1 1 afEel wrl &7 § uaey Wl 2)

(D) =18 o THUE 4 a0 <A1 &, 51 Toh Torey 3 e 81

(E) i ot

Which of the following is the biggest geographical region ( area wise) of Rajasthan?

(A)  Semi dry region {(B)  Aravali region

(C)  Western desert plain region (DY  Eastern plain region
(E)  Question not attempted

Frfafiaa 7 & ToreuT 1 qed ST RMorsn & (2 o STEI) S 97 22

(A) e 3T & (B) 3 &
(C)  uftrdt weeuclir Bar & (D) il et &
(E) i ot

SI7] 11 [ P.T.O.
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Which of the following Indian states/union territory has the highest number of wildlife sancturies?
(A)  Himachal Pradesh (B) Waest Bengal

(C) Andaman and Nicobar Islands (D} Lakshadweep

(E)  Question not attempted

frefafiad § € v & g Tsa s st Yoo § gad 1ies weat § gesila STy 29

(A) Tev=e wew (B)  uf¥m smer

(C) i ¥R Fer v (D) ST

(E) #Tana s

What is Himalayan yew (Taxus Wallichiana)?

(A)  Atype of Tribe {(B)  Atype of soil which is found in Himalayan region
(C) A [olk song of Himachal Pradesh {D} A Medicinal tree

(E)  Question not attempted
femTera 3 (3aee aTfoTfoamT) FT &7

(A) SISl %7 U TR (B) it o1 U webt it femreter s & qram ST )
(C) TerTae R % U A (D) T et e

(E) #Tana s

Who became the second Tndian to win a gold medal at the Asian Marathan Championship in 20247
(A)  Kartik Kumar {(B) Srimu Bugatha

(C) Man Singh (D) GopiT

(E)  Question not attempted

fmTs e <A 2024 § w0l UE S Tl R R i 5

(A) i FAR (B) ®Fame

() uwHfE (D) T

(E) #Tana s

Which country has emerged as the world’s second largest producer of Mobile phones?
(A)  Vietmam (B) Germany

(C) India {D} United Siates

(E)  Question not attempted

I HT 39T T T 8 W ST HaT5el BI7 I 927 TR 39 &7

(A)  faaam (B) St
(C) wma (D) TS wed
(E) #Tana s

e 91s *Valid® o1 3w fédt ard 3

(A) Tt (B) HIT
©) @ (Dy 3N

(E) i ot

Where is marble dumping yard in Rajasthan?

{A)  Kishangarh {B) Bundi
(C)  Kumbhalgarh (D) Bikaner
(E)  Question not attempted

TSTET H HTslet gfed ane el 22

(A)  Tre (B)

C) FATG (Dy T
(E) i ot

SI7] 12 [ P.T.O.
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61

62

604

Mukhyamantri Laghu Vanijyik Vahan Swarojgar Yojna in Rajasthan has been notified on:
(A) 12 December 2021 (B) 11 October 2022

(C) 13 November 2023 (D) 19 December 2023

(EY  Question not attempted

TIEAT H st o1 AOTTSaeh aTe TR Ao ohi el A= form ma 22

(A) 12 fg@em 2021 (B) 11 STFRF 2022
(C) 15999 2023 (D) 19 fEgeR 2023
(C) AR 5

As cited in the ancient text of Rajasthan that fort of Rajasthan where soldiers who were skilled in the planning
and strategy of wars, lived in was called as — (Choose the most appropriate option from below:)

(A)  Sahay Durg (B) Sainya Durg

(C)  Parikh Durg (D}  Paaridh Durg

(E)  Question not attempted

ST fo TrTeT 3% Wi it & Sfeafias & e s 9 fore =t 15 A aee s wrtfa s frgor et
Tl o I e ST AT (R § wa 3w e o)

(A) wEEFl (B) @

(C) Wil (D) ara g

(E) i ot

People of which Civilization buried their dead with jewellery and ornaments?
(A)  Gilund (B) Kalibangan

(C) Abhad (DY Bagor

(E)  Question not attempted

fortt T 3 SART SO A Sl STEON 35 WY ST &2

(A) firers (B)  IAteHT

(C) «ES (D) STIR

(E) i ot

Karpur Chand Kulish was the founder of which newspaper?

(A)  Dainik Jagran (B) Punjab Kesari
(C) Rajasthan Kesari (D} Rajasthan Patrika

(E)  Question not attempted
S =i Flerar fondt THTAR 9 < Eeums; 247

(A)  2fe s (B) OIS sl

(C)  USTET TS (D) TSR YiAehT

(E) i ot

Which of the following words has been added to the Preamble by the 42 Constitutional Amendment?
(A) Liberty {(B) Equality

(C)  Integrity (DY Fraternity

(E)  Question not attempted
Freterfia & & o6t 91 e 424 Giaar geie gRy e A SiieT T 27

(A) T (B) WA
(C) sl (D) sy
(E) i ot

SI7] 13 [ P.T.O.
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65  Which of the following is a violation of Fundamental Rights in India? (Choose the most appropriate option
from below?)
(A) Banning of tobacco products (B) Not paying minimum wages to workers
(C) Banning the use of loudspeaker after 9pm (DY  Dclivering a speech
(E)  Question not attempted

R  Frefefiad & @ 1 o i e # seci 22 (T o & wedt 3 foered )

(A) TR SCIR R e & (B) SIS I =T HAGH T A T FAT
(C) T Y & F1€ S WU & HT - (D) |T99T &7
(F) ormia g

66  Which ol the [ollowing is shorlcul command for print in MS Oflice?
TH T AR & e 3 ot e 5 5 i 1 e wais 82
(A) Alt+P (B) Shift+D
(C) Cul+P (DY Alt+Ctrl +P
(E)  Question not attempted / Bilfljﬂfﬁ RE]
67  There is certain relationship between the two terms to the left of :: and the same relationship cxists between
the two terms to its right. Then find which option would replace the question mark?
12 % AR T 2 Vo3 o Wed %o Wl & IR AN Al o I wreat o oA e Hee 7, A At sy, R v
o5 % v W wF a1 e o1 whar 22
GKLP : QUVZ :: ACFJ :?
(A) KOPT (B) KLPT
(C) MOPT {D} MOTR
(E)  Question not attempted / 31?@'?&[ EE]
68  Select the most appropriately maiched pair of crops.
(A)  Wheat - Rabi- Sonara (3) Rice - Rabi- Basmati
(Cy Maize - Rabi - Vijay (D) Rice- Kharif- Shakti
(E)  Question not attempted

THHE o T T ®Y H T TR 1T ST ol I

(A) T -t -|Em (B) T - W7 - STEHdT
(C) Yl - T - foer (D) =Ed - Gl - i
(C) AR 5
09  Who classified blood in different groups?
{A) ILdward Jemmer {B) Karl Landsieiner
(C)  Louis Pasteur (D) Robert Koch
(E)  Question nol allempled
o O 1 Fafore T & et T
(A) TEag T (B) A ereRT
(C) TEWER O TEFE
(E) gt o

70 Which of the following antibody is found more in mother's milk?
Torefeafiaa o 4 o o ga o %1 W1 e (vl iR o g S 2
(A) lgA B) gD
(Cy TG Dy TgM
(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]
S17] f@ 14 [ P.T.O.
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71 Match List-T with List-TI:

List-T List-TT
(Deficiency disease (name)) {Symptoms of the disease)
a Pellagra L. Memory loss
b. Beri-Beri LL Wcakness in muscles and nerves
C Scurvy UL Appecarance of dry scalcs on tonguc and skin
d. Riboilavinosis IV. Bleeding (rom gums
=t -1 gl -1 & gufaa i
T T o=t -1
(rquiaT 4 (2T 3 )
a  Aemn L R e
b AR UL R s e e
c. Al UL ST A T O YR ST 1 19T T
d. TR IV, WEGIH T aE

Choose the mosl appropriale answer [rom the oplions given below:
= faw e foeredt H @ waifue 3w o If
(A) a-TLb-Tc-TV,d-1 (B a-TLb-MLe-I,d-1V
(Cy a-TV,b-Le-T,d-1I (D) a-Lb-Mec-MLd4d-1V
(EY  Question not attempted / 31?@'?&[ EE
72 Tfthe lengths of diagonals of two squares are in the ratio 4,7, then the ratio of their areas is;
AT T AT o TorehuTl oh! CIATS o1 STTTA 4:7 BT, T 39k &FThatl ol ST o
(A) 47 (B) 16:49
(C) 64:343 (Dy 2:1
(E)  Question not altempled ¢ ailflﬁﬁ_d RE]
73 Which of the following storage device can store maximum amount of data?
(A) Hard disk (B) Floppy disk
(C) Compact disk (D}  Optical disk

(EY  Question not attempted
Frefaiiaa § & S 91 =i fearsg i qem | 227 WK qehar 87

(A) TEfewn B) v e
(©) e fewr (D) ifteshet fawen
(C) AR 5

74 Which of the following is used for spell checking in excel?
USRI H a1 S ok oA e J § feraerr 9T foram St &7
(A) T4 (B) TS
(C) TFeo (Dy F7
(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g
75  Which of the following function displays current system date in spreadsheet?
Tarferfiae o & o w1 S Wiewlie § anT e faien waf¥ta s 27
(A) Today[ 1] (B) Today ()
(Cy Today{ } (D) Today &
(E)  Question not attempted / fﬂ?la?lfﬁ RE]
S17] fgm_;“j 15 [ P.T.O.
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76 Which of the following is NOT a character formatting in word processing tool?
(A) TFont colour (B) Alignment
(C) Underline (D)  Effects
(EY  Question not attempted

Trefafiga & & 1 BT et BIHTET a€ T 20 T8 &2

(A) IR TR (B) W@
(C) @i (DY WM
(C) AR 5
77 The spread of which revolution enabled India to achieve self sufficiency in food grains?
(A)  Green Revolution (B) Yellow Revolution
(C)  Blue Revoluticn (D)  White Revolution

(EY  Question not attempted

Torer BhTer o ST & I TR & ST STH 2 H T&H §37 2

(A) Ehawmifa (13) et it
(©) el wifa (D) T%e Wil
(C) AR 5
78  Planning Commission was set up under the Chairmanship of-
(A)  Prime Minister (B) DPresident
(C)  Vice President (D)  Chief Minister

(EY  Question not attempted
TISTT ST St T o it aremerar § < g ofto

(A)  FerwAt () TegAfer
(C)  IHUHfa (D) Tl
(C) AR 5
79  To protect goods produced in Tndia from imports, Government made use of-
(A)  Quotas (B)  Tarifts
(C) Both Quotas and Tariffs (D)  Neither Quotas nor Tariffs

(EY  Question not attempted

TR H IeuTae et ot AT | == o forg wrenm 3 o =1 s foram?

(A) I (B) T
(C)  ieT R [ 3[T (D) TAFRTTH Yo
(C) AR 5

80  Choose the most appropriate option to fill in the blank:

Aditi has been working here

(A)  since six months (B) six months ago
(C)  six months before (D) for six months
(E)  Question not attempted
81  Choosc the mest appropriate passive form of the word: ‘declare’ to fill in the blank-

The old houses in lown unsafe by the authorities.
{A) declared {B) are declaring
(C) have been declared (D) declare

(E)  Question not attempted
S17] fg.,..._;“j 16 [ P.T.O.
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82  Choose the most appropriate option to fill in the blanks:

postman’s litlle boy said thal he’d rather be dentist than cardiologist,
because dentists don’t get called out at night.
(A) x,a,a,a,the {(B) The,a,a, x,x
(Cy A, the, the, a, x (D) The, thea, x, x

(E)  Question nol allempled
83  Choosc the word which is similar in meaning to RELINQUISIL
(A)  residue (B) offensive
(C)  persist (D) abandon
(E)  Question nol allempled
84  Intcgrated circuits (ICs) arc related to which gencration of computers?
(A) TFirst Generation {B) Second Generation
(Cy  Third Generation (D) Fourth Generation
(E)  Question nol allempled

s gfde (1Cs) forer S & Fraer & St &2

(A)  TOH S (B) Tt sRwme
(C) el S (D)  =qd SN
(C) AR 5
85  India- Japan 5™ cdition Joint Military Excrcise *DIIARMA GUARDIAN’ commenced in which state of
Tndia?
(A)  Andhra Pradesh (B) Rajasthan
(C) Tamil Nadu {D) Himachal Pradesh

(E)  Question not attempted
AT ST 53T SRt §eh 8- ST¥TE a1 TS A o fohd T4 5 7 gaT?

(A) ST v (B) TSN
©) afreEg (D) femmaet e
(E) HTana s
86  Which of the following team emerged champion of the Santosh Trophy (2023-2437
(A)  Goa (B) Manipur
(C) Mizoram (D} Services

(E)  Question not attempted

Frefataa & o i ©f dm way bt (2023-24) Fir ST =1

(A) TET (B) T
) fr= (D) wifasr
(E) HTana s

87  In India General elections for 18th Lok Sabha were completed in how many phases?
A ¥ 1 8ell Sl IeaT o AT AT <A1 fohe ] =RUT H qUi §U?
(A) 4 {B) 6
)y 7 (D) 8
(E)  Question not attempted / 31?@'?&[ EE]
88  In which Indian state the rare butterfly ‘Neptis Philyra® has been discovered?
{A) Ullarakhand {B)  Arunachal Pradesh
(C) llimachal Pradcsh (DY Jammu and Kashmir

(E)  Question not attempted
e fofefet e TR o1 IS W o T T H ohl 11 87

(A) IHEE (B)  3TRTECT Y&
(C) Temraa wam (D) P T FHR
(F) 3T T

SI7] 17 [ P.T.O.
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89  TIn the figure given below, PQR is a triangle. QR is parallel to PM. If QR=PR, then what is the value of
ZRPM?
Frar ¢ STHfT § PQR W B 21 QR , PM 3 HHMTR 21 A% QR=PR &, 79 L RPM T A T 8T

(A) 70° (B) 80°
(C) 100° (DY 95°
(E)  Question not attempted / 31?@'?&[ EE]
90  The point A (13, 18), B (-5, 10), C (-13, -8) and D (3, 0) taken in that order are the vertices of a

(A) Rectangle (3) Trapezium
(C) Square (D) Rhombus
(E)  Question not attempted
fog A (13, 18), B (-5, 10), C (13, -8) T D (5, 0) Tl T6T 369 H o W3 = 3T 2
(A) 3TFE (B) W SqHS
(Cy = (D)  §HEqHS
(E) #Tana s
91  Select the incorrecty matched pair of National Park and the state. {(Choose the most appropriate option from
below:)
(A) Bandipur National Park - Karnatala (13) Satpura National Parlc - Tamil Nadu
(C) Kevla Dev National Park - Rajasthan (D) Kajiranga National Park - Assam

(E)  Question not attempted

T FEH T T o e sitg =57 H) (Fe 8 8 o 37 foered <)

(A) SRR FeH-FTeF (B) HATST TS STT-AHEMTS
(C) hacled U M-S (D) RIS USERT SIH-3199
(E) #Tana s
92  Select the method used for calculation of real value of good seed.
N Pu.rlty'pcrccnt <100 B) Germination percl.:[e)r(lltx Purity percent
Germination percent

2 (Germination percent + Purity percent)
x 100 (D) 100

(©) Germination percent

Purity percent
(E)  Question not attempted

T S i 6 ATt W 3wt ¥ forw e s ffr rafi

A) M %100 ®) ST UL X J[E Tieaerd
A% HIRHG) 100

© FETIR 60 by 2 g
) ESIRREIR] 100

(C) AR 5

SI7] 18 [ P.T.O.



93

Select the incorrectly matched pair of biosphere reserve and its region.

(A)  Nilgiri - Karnataka, Kerala (13) Thar Dcscrt - Rajasthan
(C) Kanha - Madhya Pradesh, Utliar Pradesh (D} Manas - Assam

(EY  Question not attempted

SAlared e qur Geifé &e o SHel S o1 =5 il

(A)  rafR-atees, Fe (B) I TR -Torey
(C)  SHET-HEH a3, Sk 98T (D) AFE-5ET
(F) 3T T

Read the passage and answer the questions that follow by choosing the appropriate answer : (Q. 94 to 98)

94

Once we have settled on a perspective, we close off with one line of thought. Certain kinds of ideas oceur to
us, but only those kinds and no others. What if the crippled man who invented the motorized cart had defined
his problem as, “How to oceupy my time while lying in bed?” rather than “How to get out of bed and move
around thc house?”

Leonardo Da Vinei believed that to gain knowledge about the form of problems, you begin by approaching
the preblem on its own terms, He felt the first way he looked at a problem was too biased towards his usual
way ol seeing things. He would restructure his problem by looking al it from one perspective and move L0
another perspective and still another, With each move, his understanding would deepen and he would begin
1o undersiand the essence ol the problem. Da Vinel discovered thal genius oflen comes [rom [inding a new
perspective that no one else has taken.

Albert Binstein was once asked what the dilference was between him and the average person. He said that il
you asked the average person to find a needle in the haystack, the person would stop when he or she found a
needle. Lle, on the other hand, would tear through the entirc haystack looking for all the possible needles.
With creative thinking, one generates as many alternative approaches as one can.

Most of us have been cducated to think exclusively which means we think in deficit by focusing our attention
on specific information and excluding all else. In these instances, exclusive thinking leads us to neglect
potentially important picces of the puzzle. Exclusive thinking docsn’t mercly inhibit irrelevant facts and
perceplions. It can also smother the imaginaiion.

Creative thinking is inclusive thinking, You consider the least obvious as well as the most likely approaches,
and vou look for dilTerent ways 1o lock al the problem. It is the willingness (o explore all approaches that is
important, even after ong has found a promising one,

Ideniily siatements which are wrue with respect 1o the passage:

a. COur settled perspective towards a problem makes us focus on one line of thought only,
b. Lconardo Da Vinci always solved a problem in the first attempt .

C. Albert Einstein would look for as many alternatives as he could to solve a problem.

d. Exclusive thinking enhances creativity and imagination.

Choose the most appropriate answer from the options given below:
(A) aandbonly (3) bandconly
(C)y aandconly (D)  canddonly
(EY  Question not attempted

SI7] 19 [ P.T.O.



95

96

97

98

99

100

Which of the following statements are not true with respect to the passage?

a. With creative thinking, one generales as many allernative approaches as one can.

b. Exclusive thinking leads us to the important picces of the puzzle.

c. Inclusive thinking makes one look for different ways to look at the problem.

d. Exclusive thinking makes us broaden our attention and look for potential alternatives.
€. Creativity and inclusive approach go hand in hand.

Choose the most appropriate answer [rom he oplions given below:
(A) aandconly (3) banddonly
(C) candeonly (D) dandaonly
(E)  Question not attempted

The leatures (hat define crealive thinking are:

a. Mului dimensional approach
b. Willingness to cxplore
c. Biased approach

d. Not easily satistied
Choose the most appropriate answer [rom he oplions given below:
(A) a,bandconly (3) b,candd only
(C) a,banddonly (DY a,canddonly
(EY  Question not attempted
According to the passage, the most important thing with respect to solving a problem is:
{A) Learn to look for [acis {B) To change our educaiion syslem
(C)  The willingness to explore all alternatives (D)  To be focused with onc line of thought
(EY  Question not attempted
Choose the Antonym of the word SURPLUS from the options given:

(A)  Smother (B) TInhibit

(C) Biased (D) Delicit

(E)  Question not attempted

An bio-active molecule, . that is used as an immunosuppressive agent in organ-transplant patients,
produced by a fungus.

(A) streptokinase (B) stating

(C) cyclosporin A (D} lactic acid

(E)  Question not attempted

T TR ST , Foraerr i i afadiaer & wfome fatraer s o =9 & e & forar S 8, g9
3eUTe Ueh ehaleh H foRaT ST 2

(A) RIS (B) wfew

(C) EEFAEIIRA-T (DY fde aver

(E) HTana s

Select the incorrectly matched pair of plant and its economically important part.

(A)  Cenrella asiatica - Bark (B)  Papaver somuiferum - fruit
(C)  Emblica officinalis - [ruil (D}  Cinchona officinalis -Bark

(E)  Question not attempted

IR 3T 38 AT Hawe Alet W o TTod Hel A S11S o |

(A) HIET URTUEHT - BT (B) YR SRR - B
(C)  wriferen SAThITERTo - wer (D) T SAidifirfay - s
(C) AR 5

SI7] 20 [ P.T.O.
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102

104

105

The river of Rajasthan that drains into Arabian Sea is.

(A) Luni (B)
(C)y Chambal (D)
(E)  Question nol allempled

TSR 1 92 Te S 3R A et # -

(A) ot (B)
(C) = (D)
(E) i ot

Which onc of the following rivers flows in a rift-vallcy?
{(A) The Yamuna (B)
(C) The Ravi {D}
(EY  Question not attempted

TtAiea | € i €1 41 faer-endl o s &2

(A) T 1)
(©) (D)
(C) AR 5

“Namcha Barwa Peak” is located in which of the following regions of the Himalayas?

{A) The Darjeeling and Sikkim Himalayas (B)
(C)  The llimachal and Uttarakhand Llimalayas (D)
(E)  Question not attempted

Banas
Kantali

The Narmada
The Gandak

THar

TiEsh

The Arunachal Himalayas

Kashmir 1limalayas

“TH=T s TInee fenmer & refafaa 0 9 fore & 0 saftoa 22

TR TeHTeTT

FIHR TEmTe™

Jaipur

(A)  Irsiter o ffrerm feamem (B)

(C) TEmm=e it IuEs fearem (D}

(F) ormia g

Thewa Art is associated with which of the following areas of Rajasthan?
(A) Churu (B)

(C)  Pratapgarh (D)

(E)  Question nol allempled

T | ST et e § € form g o defia &

A IF (B)

(C) Ta™TE (D)

(E) i ot

“Mahi Bajaj Sagar Project™ is a joint Venture of which of the following Indian states?
(A)  Rajasthan and Madhya Pradesh (B)

(C) Rajasthan and Gujarat (D}

(EY  Question not attempted

Thalawar

sS4

~J

HAleTETg

Madhya Pradesh and Gujarat
Madhya Pradesh and Punjab

“HTE TS W HIESHT A TeTRare | 8 WRA o6 fohet T2 b1 Seh I 87
(A) TTSTET ST e WeaT (B)

(C) USTE R TSI (D)

(C) AR 5

SI7] 21
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106 Given below are two statements:
Statement (I): Alluvial soil is found in Western desert plains of Rajasthan .
Statement (11): This soil contains enough quaniity ol Niwrogen but lacks in Potash and Iron.
TIn light of the above statements,choose the most appropriate answer from the options given below.
(A) Both Statcment (1) and Statement (11} arc truc.
{(B) Both Siatement {I) and Statement (11} are [alse.
(C)  Statement (T) is true but Statement (IT) is false.
(D) Statement ([) is false but Statement (11) is true.
(E)  Question not attempted
T - 1 : STollg TaT TSTe & gt mesere fem o urd St 21
HY - 1T : 39 Tl O Argeioe vaty 9 8 gidT @ eiferd diersm 377 oie ded sl il et 2
ST A o AT H AITRIT Tl § 4 Hal 15k ST S =1 :

(A) o L SHTFYT 1L ST |t 2 (B) % 1 ST e L1 ST Tetd 2
(C) = [ 9E 2 Tormg e 11 TTerer 2 (D) U 11T & Tofm] e 1T ¥l
(E) #Tana s

107  What is “Fly in” in MS power point?
(A)  Colour scheme (B) Page design
(C)  Animation elfect (D} Syslem command

(E)  Question not attempted
UH T YT e § TS (Fly) 3T T E?

(A) SR T (B) U fesreT
(C) TfATH 3%a (D) T wuie
(E) #Tana s

108  Which of the following statements is NOT true about floppy disk?
(A)  Only 1.44 MB can be stored in some versions.
(B) Dala can only be read or wrile when wrile protect nolch is closed or covered.
(C)y  Floppy disks are made up of Mylar Plastic.
(D) Mylar Plastic surface is coatcd with iron oxide {magnetic substance).
(E)  Question nol allempled

vt fower & o o Feferfied § & i o1 e v T 82

(A) T HEHRUN A A 1.44 T G o S

(B) %aﬁ%aaﬁwm%www%wwmmaamwgaﬂﬁl
(C) AT fever UT3er weiies: & o1 8 21

(D) ISR wTfiesh i 6E e SiFTse (Foehr varh) § afed a2

(E) i ot
109  Where was the World Future Encrgy Summit 2024 organized?
{A) London {B) Paris
(C) New Delhi (D} Abu Dhabi

(E)  Question not attempted

T wiorsy et Rerat avie 2024 a7 sTEifsa forar T

(A) o= (B) uf@m
(C) 73 feoddt (D) 377e el
(E) i ot

SI7] 22 [ P.T.O.
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110 A ray of light is incident on a plane mirror normal to its surface. The angle of incidence and the angle of
retlection are
(A) 90°, 90° respectively (BB)  90°, 0° respectively
(C)  0°,90° respeclively (D} 0°, 0° respectively
(E)  Question not attempted

U T 290 U RIS ot Uk T Sueh! Haw o ST SATafaa 2l £1 SHep STTTa shiur 71T e shio 2il-

(A)  TEUET: 90°, 90° (B)  SREST: 90°, 0°
(C) I 0°, 90° (D)  BREET: 0°, 0°
(F) ormia g

111 Two identical prisms P and P, arc placed as shown in the figure. A narrow beam of white light 1s incident
on glass prism Py as shown in the [igure. The emergent beam [rom the prism P, [alls on the second prism Ps.

The resulting emergent beam from prism P, on the screen contains:

P,
=
L
2L
=
by
o

A

(A)  Spectrum of light as VIBGYOR form top to bottom on the screen

(B)  Specurum ol light as VIBGYOR form bollom 1o Lop on the screen

(C)  Beam of white light on the screen

(1) No light is obtained on the screen

(E)  Question nol allempled

21 gy sy Py # P, i 36 0l &1 11 & S o= 3 fo@m T ) ush Gehivl 4 Sehter T TSt & o
TrSH P T 3ATATa T ST @ St fom Fort 3 gemiam mam @) Tew P, ot i fomorgs firsw P, ot =1 s P,
oA RO RO S o e 2 v

P, ‘
A

(A) W GUHYT T i, Tehrer il &9eH VIBGYOR & &4 H

(B) T W= & ST, ThT9T T WFH VIBGYOR F &I T

Screen

(C) TR R A T T FRoTS
(D) W& RIS THT TE gL
(E) gt o
ST 23 [P.T.O.
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112

114

115

116

On 28 October 1959, who inaugurated the modern three tier system of Panchayati Raj in the Nagour

(Rajasthan).
(A)  Lal Bahadur Shastri (B)  Mahatma Gandhi
(C)  Jawahar Lal Nehru {D} Sarojini Naidu

(EY  Question not attempted
fore 2 SRR, 1959 % TER (UsreT) 3 et Tt < g e et ot s agETe T a

(A) T SEIGE ATt (13)  HETCHT e

(C) AR A T8& (D) wf AR

(E) #Tana s

The idea of "Welfare State’ in the Tndian Constitution is enshrined in its

{A)  Directive Principles o State Policy {B) Fundamenial Righis
(C)  Preamble (D) Seventh Schedule
(E)  Question not attempted

TR T & “hoamumehi T 1 e EACIEGR]

(A)  T=F o +ifa T<ares fogia (B)  HifeTsh SAMoaRn

(C)  SETET (D) 74t erge=t

(F) ormia g

Tolal surface area of cube is numerically equal 10 the volume ol the cube, then [ind the diagonal of cube.
(A) 6 units (B) 63 units

(C) 3 units (D)  2V3 units

(E)  Question not attempted
T O 1 el T8 &6l o1 HEATcHeh AT 36 O o ST 3 SR 2, T 5 o1 forshut 31 it

(A)  6FFE (B) 63 SIS
(C) 3 TR (D) 2V3 7=
(E) gt o

Four players A, I3, C and D arc standing in a ficld in such a way that I3 is to East of A, C is to the South of
A and D is to North of A. D is standing in which direction of B?

{A)  Wesi {B) North

(C) North-West (D) Scuth

(E)  Question nol allempled

TR A, B, C WD EAF A AW RE TS [F AT TH B, AFTATH C FAXAFIWH D BRI
21 B % forw fean f D T 22

(A) ufzm (B) TN
(C) STR-atET (D) =feor
(C) AR 5

When the minute hand covers a distance of 1 hr 25 min, then what is the angular distance covered by it?
<ot fire o1 8 1 v 25 fome o ol a9 et 2, A 3k gr o o1 el shiofter g gt

(A) 375° By 5100

(C) 480° (Dy  450°

(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

SI7] 24 [ P.T.O.



117 Select the incorrect statement about the genetic code.
(A)  The codon is triplet.
(B) 61 codons code for amino acids.
(C) UUU code for phenylalanine.
(D) AUG only acts as initiator codon and has no other function.
(E)  Question not attempted
HTENTF 2 (S 125 L) & T J TTeld &2 Fl LMY
(A) IS fguaie (Fek) BT B
(B) 61 WHIH UHIAT 27! o [Tt spaeifigd i &)
(C)  UUU $HEACATA o [T F2ergd LT 8l
(D) AUG sacl 31iTehd] hiSH % &9 I il hidl 2| ST 31 IS 13 2l 2

(E) gt o

118 Which of the following nitrogenous base is not 1 component of DNA?
(A)  Uracil (B) Cytosine
(Cy Adenine (D) Guanine

(:E-) Question not attempted
Frfafaa W @ i 91 As2iTsHE 99 (7)1 UF TR 9k 181 87

(C) TSN (D) W@
(E) gt o
119 Select the incorrectly matched combination of characters and contrasting traits studied by Mendel in pea
plant.
(A)  Seed Colour : Yellow / green (B)  Seed Shape : Round / Wrinkled
(C)  Flower position : Axial { terminal (D) Pod. Colour : White/ yellow

(E)  Question not attempted

Bimeet I AT R T Pt Fagen] s ol 36 T ey el iRt 1

(A) SSTRIGT : g/ & (B) i< o1 @RI - it/ L
(C)  we ol fhafer - srafr /afidey (D) el &1 O7 : The / diell
(E) gt o
120 Choose the most appropriate English translation of the given sentence
REERCRICERIRAE K
(A)  Why the book was torn by Rudra? (B) The book was torn by Rudra why?
(C)y  Why tear the book, Rudra? (D)  Why did Rudra tear the book?

(E)  Question not attempted
121 Choose the most appropriate reported form of the sentence given:
He said to us, “Don’t walk on ice; it isn’t safe.”
(A)  He said not to walk on ice as its not safe.
(B) He warned us not to walk on e as it wasn't safe.
(C) He ordered us not to walked on ice as it weren't safe.
(D)  He told us to avoid walking on ice as it isn"t safe.
(E)  Question not attempted
S17] fg.,..._;“j 25 [ P.T.O.
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122

123

124

125

126

127

Choose the most appropriate option to fill in the blanks:

1 her a long time, she was a child.
(A) know, since, for (B) knew, x, since
(C)  havc known, for, since (DY was knowing, since, since

(E)  Question not attempted

Choose the word opposite in meaning to ERUDITE

(A) Boring (3) Illiterate
(C)  Crude (DY Lcarned
(E)  Question not attempted

Choosc the word closest in meaning to the underlined word:

Pcople thronged to pay homage to the departed leader.

(A)  bhumility (3) obcedience
(C)  tributc (DY alicnation
(E)  Question not attempted

Chicf Minister C'orona Sahayata Yojana is operated in the entire Rajasthan since
(A) March 2021 (3)  April 2021
(C) May 2021 (DY  June 2021
(E)  Question not attempted

TS FHRIAT FETT A1 G TTEA H ol | =1 582

(A) = 2021 (13) e 2021
(C) w2021 (D) SE2021
(E) #Tana s

BIIADLA SOLAR PARK is located in:

(A) Jaipur (3) Jodhpur
(C)  Udaipur (DY Bikaner

(E)  Question not attempted

TS I T T o forg T # feom 87

(A) SHEIT (B) IR
(C) SR (Dy ST
(E) #Tana s

To boost cconomy and getting State Government approvals Rajasthan Micro, Small and Medium Enterpriscs
(Facilitation of Establishment and Enforcement Amendment Act, 2023) hagincrcased the period of exemption
to MSME from:

(A) 3 vcars to 4 ycars (3) 2 ycarsto 4 vears

(C) 4 vcars to 5 years (DY 3 ycarsto 5 vears

(E)  Question not attempted

STefTETET I AT A R TT R 8 A o o ToT TTSTearm 6, 77 STR 9eaw 39 (STOT SR Toa
YRR W S, 2023)F T TF TA $ (MSME) 1 92 i et agr 4 &-

(A) 38499 (B) 29479
(C) 4¥5a§ (Dy 3®sad
(E) #Tana s
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128 The Rajasthan Panchayti Raj Act (RPRA) came into force from:

(A) January 1994 (BB) April 1992
(C)  January 1992 (D)  April 1994
(E)  Question not attempted
TR U=l Tt AT (STRESTRY) B GE
(A) SERT 1994 (B) oTUTT 1992
(Cy el 1992 (D) 3T 1994
(E) #Tana s
129 The monegtary assistance given by Government for production activities is called-
(A) GDP (B) Subsidy
(C) Quota {D) Liccnee

(EY  Question not attempted
JeuTe Tfdfater o for TeRr R €t S ard] 3nfiies gemdT ol %@l 947 8-

(A) STErd (3) @fsaeEr
(C) whiar (D) sag
(E) gt o

130 lleating the sulphide ores in the prescnce of excess of air is called:
(A)  Calcination (B) Roasting
(C) Reduction (D) Electrolysis

(E)  Question not attempted

a7 % s A At S gewgs TR T e i R et R

(A) =T (e (B) we (UREm)
(C) ¥ (D) FE ATTRA
(F) ormia g
131 Anodising is:
(A) painting the metal surface (3) forming a thick oxide laycr on the metal surface

(C)  depositing a layer of zinc on metal surface (D)  oiling the metal surface
(E)  Question not attempted

AT &

(A) 9T HaE F U= FET (B)  Tq 8 AR 2Ar1se i wea Ffde e
(C) g Tefg W {5ia ohl Uad Feifie s (D) T W WAl SHTHT

(E) #Tana s

132 The electronic configurations of three elements A, B and C are:
A-2,8:B-2,87andC-2,8,2.
Which of the following statements is truc?
(A)  Adsametal (B) Bisametal.
(Cy Cis anon-metal. (D) B isanon-metal and C is a metal.
(E)  Question not attempted
d T A, B 3R C % St o= sy
A-2.8:B-2,8 7%~ C-2.8 272

Frafafiaa § € i 97 oM 707 27

(A)  ATH G (B) BUFHT

(C) C Ush 3THTq 2 (D) B U 3741 & 3 C Teh 47 2
(E) #Tana s
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133 Match List-T with List-T1

List-1 List-11
a. Munich is a large city the south of Germany. . at
b. Were there many people the concert on Friday? TI.  during
C. We shouldn’t speak eating. . in
d. We didn’t speak the meal. V. while
Choose the most appropriate answer [rom he oplions given below:
(A) a-1ll.b-Le-IV,d-1 B) a-ILb-1V,c-lULd-1
(Cy a-Tb-Me-TM,d-TV Dy a-TV.b-TLc-T,d-1

(E)  Question not attempted
134 Choose the most appropriate Cnglish word [or the given word- 3T,
{A) Delerred {B) Seizure
(C) Regulation (DY Abatement
(EY  Question not attempted
135 Choose the most appropriate word to complete the following sentence:
An inscription on a tombstlone is lermied as
(A) accmetery (3) agrave
(C) ancpitaph {DY ascrmon
(EY  Question not attempted
136 'Who has become the first woman scientist to win the *G. D. Birla Award” for scientific research?
{A)  Sipra Guha Mukherjee {B) Dr. Adili Sen De
(C)  Dr. Rani Chatterjce (DY M. Fatima 13ibi
(EY  Question not attempted
ATk STTErE o forg it 2t forem e S arelt ueedt Afeat aeies i a2

(A) T T et (B) i alfaaas
(C) 1. T Fest (D} TN, BT SitEt
(E) #Tana s

137  The fourth edition of the ‘Shanghai Cooperation Organization (SCOQ) Startup Forum’ was organised on 19
March 2024 in
(A)  Shanghai (B) New Delhi

(C) Moscow {D} Bishkek

(E)  Question not attempted

“TTTS TERRT TS (TE it 377) TWIEeTT BRA 2T =T TR 19 774, 2024 EECIPIECREDIRIDI
T

(A) =g (B) 3 feeeht

(C) Hiew (Dy fasaen

(E) HTana s

SI7] 28 [ P.T.O.
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138

139

140

Match List-T with List-TT
List-1 (Country) List-11 (Position of medals cally
in Paris Olympics 2024)

a. China L 3ud
b. Britain . 4t
C. Netherlands i, 2™
d  UsAa iv. 1%
Ft-1 1 e g1 3 | g
-1 (39T) TEt-T1 (U aATetus 2024 7
e et T Rt
a. CIE| i iEsEu
b, A Heoo e
c. Tigtiea il gEa
d. RIS ARSI
Choose the most appropriate option from below:
e o & e guge faeew o i
(A)  a-iv, b-ili, ¢, d-ii (B)  a-ii, b-i, c-iv, d-iii
(C)  a-iil, b-iv, c-ii, d-1 (DY a-i, b-ii, c-iii, d-iv

(E)  Question not attempted / Bilfljﬂfﬁ RE]

P is the son of R; R and Q arc sisters; 7 is the mother of @ and M is the son of Z. Which of the following
statement is true?

(A) M and P arc cousins. (3) M is the maternal uncle of P.

(C)y R and M are sisters. (D) Qs the grandmother of P.

(E)  Question not attempted

P,RFTYF 2, R Ud Q afed &; Z, Q i wrar ft & sk M, Z =1 47 21 Frfeafiaa & & S-ar svom |t 22

(A) M 3T P OET IS | (3) M, PFTHAATE
(C) RUEMTeA | (D} Q, P AT R
(E) HTana s

Find the number of triangles in the given figures:

1 1T AreRfar H ot i e s

(A) 13 B) 15

(S (DY 14

(E)  Question not attempted / fﬂ?la?lfﬁ RE]
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141

142

144

145

If it is given that for two right angled triangles PQR and ABC, ZP = 25°, ZC = 25°, ZQ = Z13=90° and
PR = CA, then which o[ the [ollowing is true?

afe 7% e 7 2 fo 2 wwentor BRI PQR wd ABCH LP=25°, £C =25°, LQ=ZB=90°Td PR=CA
21, 1 FefaRad 4 @ sibEr 9 82

(A) APQR = ABAC (B) APQR = AACB
(©) APQR = ACBA My APQR = ACAB
(EY  Question not attempted / 31?@'\’&[‘5[%
If = coscc() = = , then % is equal to:
¥ tan@ +
afe cosecO =£,a€r V3coto+1 TR
Y tan © ++/3
x2 -2 X2 —y2
(A) y (B) x
12 .2 2.2
© Y o
¥ X

(E)  Question not attempted / Bilfljﬂfﬁ RE]

Tfa = 0,1069, then the value of \/402 +1—dg+3q 18

& a = 0.1069, T \/42 41— 4 + 3 NI

(A) L1069 {B) 2.1069

(C) 04655 {Dy 1.5345

(E)  Question not attempted / Bilfljﬂfﬁ RE]

Electrolysis of dilute aqueous NaCl solution was carried out by passing 20 millianmpere current. The time

required to liberate 0.02 mol of hydrogen gas at the cathode is :

T St NaCl faer &7 forra-sroere 20 fieft e am yafed ek foam e Fute = BTEgieH 19 @ 0,02
IR 1 ek A o oTE o aTel STTeavee ane 2 -

(A)  9.65x 10%s (B)  28.95x 10%s

(C) 193 x 10*s (DY 38.6x10%s

(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

Which of the following is the precipitate in the given reaction?

A TS AR § ffetia 9 § oM 41 /a8 87

Na.80,4 (aq) + BaCls (aq) — BaS0y (s) + 2NaCl (aq)

(A) NaxSOuaq) (B)  BaSO4 (s)
(C)  BaCly(ay) (DY NaCl (aq)
(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g
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146 MWatch List-1 with List-11 :

List-I List-11
(Reaction/Reactant) {Effect)
a. Oxidation L Gain of clectron
b. Reduction II.  Electron accepting species
C. Reducing agent M. Electron loosing species
d. Oxidising agent TV. Loss of electron
g=t-1 a0t g=ft-1 | gafoa #ifsu
Tet-1 eAt-11
(Feram/amea) (STT)
STt [ i e e o
b, SUER M. Seladd 72y i arelt witefist (e
c. AU M. SolagH @i aref! TiEfs (S
d. AT IV. gl &l g
Choosc the most appropriate answcer from the options given below:
Hrer feg e et 7 & warferss 3w s IR
(A) a-TV,b-Tc-TMLd-T (B) a-MLb-Tc-TV,d-1
(C) a-ILb-TV,c-1,d-TIT (D) a-Lb-1V,c-ILd-TI0

(E)  Question not attempted / Bilfljﬂfﬁ RE]
147 “UeF: §U 3T ohl P& 0 aTRIieT o fou uek w1s% -

(A) e )
©) g (D) @
(F) ormia g
148 FeeTiiaa o 1 oIk w1e 8-
(A) oo (B) =¥
(©) Syt (D) UG
(E) #Tana s
149 I152 F 365 TATIET= SHE SIS T =3I -
(A) 3T - TETeT (B) &g - 9@
() w-wEh (D)  AR[EE - FT
(E) gt o
150 frfafea o s fafes a2 -
(A) FAT TEl o) (1B)  Toal aT9H SHeeRt ST
(C) ¥ & IH AT gl (D) T T8 o= fam
(F) ormia g
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SPACE FOR ROUGH WORK /T T4 % forg o

IR UAF W 71 Wit § - qor wfa AR fadver wia, wdtern waTie o qe we oig § ud uiandi 3w
Gorek oh1 11 Tfcal digrek =i @i, gdianedf @ fgdta uid =1 overy 781 ¢ | Jigheh g1 I 996
W1 T [l 1 0w T, 5o vl & 0o Ui @ we @1 9 WE o g g E oo &
gdigmelt =) WG | ahendT f3dta gl 1 sra wg & «rE |
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